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SecTioN A (&€ ) | W A B < el Yar vt ot @ wa & fr

. (a) If the demand function is given by Qp = 70 — 10Px and g l;,ﬁaaam W ;ﬁ?’m;ﬁq'q fog @ 9 &, & o S
. ' T THH =t & 5
supply function is given by Qs = —200 + 80Px, find e &
Or (37aram)
.equilibriurrlpl’ice and quantity. (a) Differentiate between Cross Elasticity of Demand and
If? § ®@9 Qp = 70 — 10Px 3R ‘ﬂ%f DT Qs = Income Elasticity of Demand with numerical example.
~200 + 80 Px @ T WA BT X WAET T AT @ B AT SR AT 3 o W § ok SaEy
aﬁﬁiﬁ | 5 R Hifer®s Iare aRTg | 5
(b) Calculate cross elasticity of demand between Lemon and (b) From the supply schedule given below find price elasticity
alculate.cr

of supply for a movement from:

Tea and state the type of relationship: () PointA to C

Goods Before e (ii) Point C to A and
Price . Quantity Price Quantity - (i) Midway between A and C.
Lemon (Z) 10 20 20 15 Points A B C D
Tea (X) 20 40 20 35 Price 6 5 4 3
- Qx 600 550 450 300
g % A wiT A R W R 3 & T fif orgee & R % A e Pt
FT R G @ FeT &1 Iwig DI TR B R s AR
- T T T * @ RgAa®cC
I ) HEd A () g Ccq A oix
d9.(2) 10 20 20 15 (i) AR C & drr 7
T (X) 20 40 20 35 5 :‘i 1;\ 153 S 13)
(¢) Prove that in the case of two straight line demand curves, G e - 450 o0 .
with the same point of origin on the prices axis, at any (c) Prove that supply curve given by :
given price the elasticity is the same inspite of different @ Qsx =100 Px has unit elasticity
slopes. (1) Qsy =200+ 100 Py is inelastic.
54438 3 Turn over
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@gmﬁ;ﬁm - AP SR 600 T B Al e A X o v
@) st=100Px#§ﬁZm% aﬁ@fq?d?fwé‘vﬁ%laﬁxaﬁmsoo
(i) Qsy =200 + 100 Py ST@rasie 3 | 5 AR Y P BT 10.00 Bo T ok 7= lzxam;fyz

T B E A G G 2 e vy e

2. (a) Consumer is better off with cash subsidy than with excise

subsidy. Explain why grants are always given in the form 4 wfdfa T | v
of excise subsidy rather than cash subsidy. :
ST (% Rl # IR GEdl ¥ I .  Secmon B (8% %)
qear | e m 5 FF ®EeT ST o . (2) Show that in a linear homogeneous Cobb-Douglas
T T & &9 Rar o ¥ 7 R Je wera production function X = ALK,
2 &7 ) v wiife A % W wodg sie-sem sar
maq = a B
(b) “A Giffen good must be an Inferior good but an Inferior ‘ X ‘ ALK
good need not be a Giffen good.” Explain this statement (@) Ifall inputs are increased in the same proportion then
using the concept of income and substitution effect of price ' , output also increases in the same proportion.
change. i wr faw I I # ger R wmd |
“fr g W oA aEg B AfeT g Hfedr aE R o F o & 9 o ¥ 3%
w1 P aeg &1 arasas T8 & 17 e aRade & (@) Theaverage and marginal product depends on the input
T AR R T S EHEEAT B AT Hh 5 ratio%.
HIT P AT DIV | 7%
Or (37T) @mﬁﬁﬂmmﬁwm%wﬁaﬁ
(a) Explain, price effect is summation of income effect and 3 .

substitution effect in case of a Normal good.

e AT B B g9 g O @ $a §

(b) Explain the statement, “If production function exhibits

constant returns to scale, the returns to variable factor will
T AR AR T4 60 Geha & | 7%
always be diminishing.”
(b) Monica spends her entire income of Rs. 600 on goods X . ¢
. _ , T HI B AT BT : “af IART Bad Rew
and Y. The price of good X is Rs. 30.00 and price of good o 3 & qRad
Y is Rs. 10.00. If she consumes 12X and 24Y, is she in : 3
1
equilibrium? Show it diagrammatically. Hd ETEA | 7%

5448 4 200 5448 5 Tum over



Or (amar)

(a) What is the difference between expansion path and
isocline? What will be the shape of isoquant when MRTS
is constant and MRTS is zero?
foreamae AR SgHiaRTE & S AT AR B2 ey
@ g 1 &l 9 MRTS ReR @ R MRTS g
87 7Y,

(b) Prove that the slope of isoquant is equal to the ratio of MP,
and MP,.. Explain why MRTS _ is likely to diminish as
more and more labour is substituted for capital.
frg A & s @ o Mp, ok MP, @
FIIE b TR T | A HRT B fFE HRe

MRTS, & T ol WG & e siftreiiees s &y

ot & ol wfeenf frar wmar £ 7%

4. (a) Explain the shapes of short-run cost curves. Analyze the

relationship between Average Cost (AC), Average Variable
Cost (AVC) and Marginal Cost (MC).

e T W B el B e @R s
ST (AC), S wRereff e (AVC) ok Wi e
MO) % Fr Hewr a1 Ragdwor 2 7%
(b) I TC=(50+Q) (90 +Q), where TC = tota] cost, Q = units

of goods produced, find TFC, AFC, TVC, AVC, AC,
MC.

qﬁTC:(50+Q)(90+Q
T A e g
MC #H s/ #ife

), 5T&l TC = g1 @, Q =
TFC, AFC, TVC, AVC, AC,
7%

5448

or (sram)
(a) Derive LAC from short run plant curves. Also explain why
LAC curve is flatter than short run cost curves.
HEE WA W § LAC I B a
A HITY & e HROT LAC a9, srearafer arrer
Wbl ¥ A wwer Bar ¥ 7%
(b) Write short notes on:
ol w e feofmt fifee:
() Fixed Cost vs. Sunk Cost
Rer @r g9 e A
(i) Private Cost vs. Social Cost
ool A g arfie wrr

(1)) Accounting Cost vs. Economic Cost.

QRO AR F977 A a1 | 7%

SecTioON C (EF'E '(-T)

5. (a) Explain and derive diagrammatically the long run

supply curve of a constant cost industry under perfect

competitive market.

R FIRT R IREE W H R ara Sun &
qof iereaeff aeR & Sfrta, dwfafr qff @ @
AT BT | Uz

(b) Derive the supply curve of a price taking firm as well as of

the industry.in the short run.
e o are W ST AT € Sredrafer § S & gfef
Iqoh FGA~ HIRT | 7Y

7 Turn over



Or ()
(a) Show how the impact of per unit excise tax depends qp

elasticities of demand and supply.
weffa #ifm fF R TR 9fd gAe ST 6 o
g " ok gfef @ @l W ﬁﬁ? GG %n .

(b) What is the difference between—
frefafag # &7 SR &

(i) Accounting Profit and Economic Profit

AGIHTT A AR SRR AT
(i) Walrasian Stability and Marshallian Stablhty?

mﬁmwﬁaeﬂ?mﬁ%mwﬁa? 4

-
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aft g7l & 3a7 gy
T FE e RarEd

1. State with reasons whether the following statements are
true or false:
(a) Accumulated Depreciation is a sum of cash being
accumulated for the replacement of fixed assets.
(b) Under stock and debtor system branch account is a
“nominal account.
(c) Legal fees paid to acquire a property is capital

expenditure.
P1.0O.



(d) First In First Out ( FIFO) method of inventory valuation

is most suitable under inflationary conditions.

(e) A business entity can keep its accounts on accrual basig

of accounting.

For Atz aAEd & 9 R4 T w19 € O e
(a) A AT % WA & {0l |4 e T

F1 wF we B

(b) B A FT T & A=, ST Wl U Qi

@ 2

(c) T F W HA & o 2 e o & o

g B

d) TRt # Rl & ala w) T R e

(FIFO) a1 Jeih &1 a8 IugF qil © |

(e) T AT FHTE, WEIHT % U TN 9¢ 0 @A

™ gHdr & 3

2. (a) Briefly explain any four needs of IFRS.

IFRS & R T&al ® g § qaemsd | 2

(b) The Plant and Machinery Account of a Company had

7761

a debit balance of Rs 1,47,390 on April 1, 2006. The
company was incorporated in April 2003 and has been
following the practice of charging full year’s
depreciation every year on Diminishing Balance system
@ 15% p.a. In 2006 it was, however, decided to change
the method from Diminishing Balance to Straight L%“e
with retrospective effect from April 2003 and to g1ve
effect to the change while preparing the final accounts
for the year ending 31 March, 2007, the raté 9
depreciation remaining same as before. In 2006-07

2

new machinery was purchased at cost of 50,000. All
the other machines were acquired in 2003-04. Show

. the Plant and Machinery Account from 2003-04 to

2006-07.

YT 1, 2006 HT U FHAT & G4 A AT @ o
3fge 99 1,47,390 Fo 41| & FHAT AY, 2003 F
e g &Y ofX BEEE 919 gomTel W 15% 9id ad
& T YOl I qeuErE @ & | 6 2006 H, YA
2003 ¥ QIATdT I 4, sraar a9 fafer &1 Fred
7 e BT BEWT fBAT AT AR T IRId H1 31 41,
2007 HI THIG B aT a9 & SAfqw @rdl & qand
A AT g fopar T | e @ & ged @
TE & T 1 2006-07 T, 50,000 I TATT &I T A I
TS| 99 G A 2003-04 FH 7 W f | 2003-04 T
2006-07 T T TAT AR AL QAT GIR R | 8

Or(?ﬂ?ﬁﬂ)

(c) What are the objectives of Inventory Management?

T USUE & IeT T &2 2

(d) The following are the details of material of Sai Mills:

ars e & arRl w6 ferer e

1.1.200S Opening Stock
1.1.2009 Purchases

15.1.2009 Issued for consumption
1.2.2009 Purchases

15.2.2009 Issued for Consumption
20.2.2009 Issued for Consumption
1.3. 2009 Purchases

15.3.2009 Issued for Consumption

7761 3

100 units @ Rs 25 per unit
200 units @ Rs 30 per unit
100 units
400 units @ Rs 40 per unit
200 units
200 units
300 units @ Rs 50 per unit
200 units

P.T.O.



Find out the cost of closing stock as on 31.3 2009 accorgiy,
to :
31.3.2009 B AT €Tk DN A B, 71 & Sram, -
e —
(i) First in first out basis

HE I G A IUR

(ii) Weighted average price basis, using perpetual inventory

system.
qAd G IO HSAT B g, WA e gy
SR | 8

. From the following Trial Balance of a trader on March 31+,
2005, prepare Trading and Profit and Loss Account for
the year ending 31% March, 2005 and Balance Sheet as at

that date after giving effect to the undermentioned
adjustments:

Th AU & 31 A1 2005 & FrT & 31 W, 2005 @A
A a9 AR SR A iR ' @ 3R HR,
& Sicwild WATEH @& g Se farr & gad o o
TR A —

Debit Balances Amount  Credit Balances Amount
Rs. Rs.
Drawings 6,000 Bank Overdraft 25,000
Wages 15,500  Interest on Investment 5,800
Stock 12,800  Bills Payable 4,600
Loan to X 4,000 Interest on loan to X 320
Rent 5,000  Capital 1,00,000
General Expenses 1,480 Reserve for bad and
Investments 60,000  doubtful debts 250
Purchases 160,000  Sales 2,30,000
7761

Freight Charges 2,100  Sundry Creditors 12,590
Goodwill 40,000
Bills Receivable 6,200
Rate and Taxes 1,800
Sales Return - 2,100
Insurance 900

Cash and Bank Balance 3,700
Postage and Telegram 3,800

Land and Buildings 25,000

Plant and Machinery 10,000

Sundry Debtors 16,500

Packing Charges 400

Bad Debts 1,280

Total 3,78,560 3,78,560
Adjustments:

LEIDISEE

(a) Closing Stock as on 31.3.2005 Rs 16,000.
31.3.2005 & IAf~aH ViF Fo 16,000

(b) Goods worth Rs 700 were sent on 25.3.2005 as “Sale
on Approval basis” for Rs 800 and the approval was
not received before the end of the month.
700 T HIAA 1 HIA 25.3.2005 Bl 800 To &I dHag
W EGd & IER T fEy woder e
W e & I qF qrd @l gE o

(c) 20% of the Goodwill is to be written off.
AT & 20% Srafafad B ¥

(d) Further bad debts were estimated at Rs 350. Increase
reserve for bad debts to Rs 1,500.

7761 5 " P.T.O.



= #9350 To & ST TG & 1 T FT B ferd
1,500 To SRET g Ao |
(e) Depreciate Land and Building by 3% and Plant and
Machinery by 10%.
i R e 1 [eIerd 3% Td BREMT q8 ARy
F Yo 10% W Hid |
(f) Goods worth Rs 800 were distributed as free samples.
800 To WA & WM TE A & AR W A
T | 10
Or (3r@a)
The following is the Receipts and Payments Account of a

Cultural Society for the year ended on 31 December, 2014:

31 REr, 2014 W T AW & o TF Wiepiod w0
&1 Wi 3R e g e -

Receipts Rs.  Payments Rs.
Cash in hand on Jan 1 1,500  Bank Overdraft Jan 3,100
Subscription: Investments in securities 3,000
2013 200 Fumiture 1,450
2014 16,200  Salary 6,200
2015 250  Printing and Stationery 890
Entertainment Proceeds 2,000  Entertainment Expenses 1,710
Entrance Fees 670  Sundry Expenses 1,420

Interest of securities 480 Balanceon31.12.2014
Sale of Old Chairs 120 Cash 550
(Book value : Nil) Bank 3,100
21,420 21,420

7701

You are required to prepare income and expenditure
account of cultural society for the year ended 3! December,
2014 and a Balance sheet as on the date after considering
the following:

(¢}

|
|
|
|
|

|
|

17761
|

ﬁwfrmﬁr@ﬁ‘g&aﬂm few=R, 2014 #r TS
w,m@mm%%ﬁmaﬁtm@mﬁwm:—

®

(ii)

(ii1)

(iv)

(v)

(vi)

(vii)

The society has 1,800 members each paying annual
fees of Rs 10. Subscriptions amounting to Rs 90 were
still in arrears for the year 2013.

e 7 1,800 T ¥ S g 10 o g o
B T 1A 2013 P FewmEr Y AR Fo 90 Iy
THEET ¥

Stock of Stationery on 31 December, 2013 was Rs
125 and on 31 December, Iis 87.

31 fa=r 2013 B Rl & ©iF 125 To a7 3R
31 feE=R @ 87 To |

Entrance fees are to be capitalized.

Ty b & Gofiga fomar s &)

Salary of Rs 550 for December 2014 is outstanding.
feamR 2014 % o 550 To HT IqT THEAT T
Expenses outstanding on 31 December, 2013 Rs 132.
31 feE=R, 2018 & THAT TF 132 To

The 'society had paid Rs 500 in 2013 for telephone
charges, out of which Rs 125 related to the year 2014.
e 3 2013 H 500 To faEH b & T 9, Rt
¥ 125 To |T 2014 A Hag &

On 31 December, 2013 premises stood in the books
at Rs 24,500 and investments at Rs 6500.

31 RRgmr, 2013 & @l § IR B Fo 24,500 &
wd fRsr o 6,500 & U |

7 P.T.O.



(viii) Depreciate fixed assets by 5% p-a.

mwﬁaﬁs%uﬁfaﬁfaﬁﬂﬁmﬁaaﬁﬁﬁt 10

4. (a) Write four dlfferences between Instalments System and

~7761

Hire Purchase system.

mmwﬁ@ﬂmmﬁﬁaﬂwmlz

(b) BR Ltd purchased three trucks costing Rs 1,00,000

each from Hindustan Auto Ltd on 1.1.2004 on hire
purchase system. The terms were: Payment on delivery
Rs 25,000 for each truck, and balance of the principal

amount in 3 equal instalments plus interest at 15% p.a
to be paid at the end of each year. BR Ltd. writes off |

25% depreciation each year on the diminishing balance
method. BR Ltd paid the instalments due on 31.12.2004
and 31.12.2005 but could not pay the final instalment.
Hindustan Auto Ltd repossessed two trucks adjusting
values against the amount due. The repossession was
done on 31.12.2006 on the basis of 40% depreciation
on the diminishing balance method. You are required
to write up the Truck a/c and Hindustan Auto Ltd a/c
in the books of BR Ltd. shoWing the transactions up to

31.12.2006.
BR. Ltd%faﬁmmqaﬁr%i%ﬁwﬁmﬁfo%
1,00,000 o Tfq & f&a19 & 3 2% 1.1.2004 H @I |

grd 1 i gt W am 25,000 Go Wi g q@T

IV gagd &9 UK fhet § 15% = ufg g

et 9l a @ o & 3 31 BR. Led TS 9 |
TS ¥ 25% YR @ &1 39T 31.12.2004 q°T

31.12.2005 &1 fohed 1 oraT o & wrg afvaw fopeat

T T umn RgEm e fio A S@Em W @
8

7761

W@mm@ﬁmmémly AferBR
31122006#@3%&%%11?40%1@@11%
TR Hh R /a7 smar 31.12.2006 7% 3

ﬁ?é:ﬁaﬁasﬁquRLtdaﬁW&;a;m

T RgE et o @ @ WO EL g
Or (\"H'EIHT)
(c) Whi\lt is Lease? State any four advantages of lease.
T T BT 87 YES B UR W@IW SARY | 2

(d) Geeta Products sells goods on hire purchase system at
cost plus 50%. From the following particulars for the

year ending December 2013, prepare ledger accounts
on stock and debtor system:

Rs
January 1 Stock with H.P Customers
at selling price 27,000
Stock at shop at cost 54,000
_ Instalments overdue 15,000
December 31 Cash received from ‘
customers 1,80,000
Goods repossessed
(Instalments due Rs 8,000) 1,500
Goods purchased during |
the year 1,80,000
Stock in the shop at cost -
(including repossessed) 61,500
Instalments due 27,000

Hiar Mg AR H 50% Sea fhUAT T Iy &
e uar & | Felofed e & Rasw 2018 &
o a¥ @ U @ie 7 TER sy ¥ <faE

AR
9 P.T.O.



AT 1 mwwuﬁﬁ?

R 27,000

A 97 gEA § wEh 54,000

o @ 15,000

frarr 31 WEET A WA UF3 1,80,000
qrd I sfept ® foran

(forer @ 8,000) 1,500

ad & wd @i 1,80,000

7FA H A 97 Wi
(q: aferpre % fom @t wfeq) 61,500
o 4a 27,000
‘ 8

Widespread Ltd. invoices goods to its branch at cost plus
20%. The branch sells goods for cash as well as on credit.
The branch meets its expenses out of cash collected from
its debtors and cash sales and remits the balance of cash to
head office after withholding Rs 10,000 necessary for
meeting immediate requirements of cash. On “st March,
2005 the assets at the branch were as follows:

Az o AU G F amAa o 0%, At Wid
A A T A we A o aar suw A e d
A ¥ Tt R forar i}r;;":{ AT AF= fadr o foer %4
d a4 a1 54 Fwan % ame gl AFE F| ATA W
AATENA % 01 10,000 5o TET % quATA, AT H
T qTA S Ay a7 fa AAT 2 )

31 1414 2005 1 Al
47 et f;{z;{ 4f-

Rs.
Cash in hand (e&Ted i) 10,000

Trade Debtors (zmarfee; L D)) . 3.84.000
Stock at invoice price (4151 &I W ®iE)  10,80,000
Furniture and fittings (IFﬁ'tTT q ffﬁfé'fﬂ) 5,00,000
During the accounting year ended 31Sl March, 2006 the
invoice price of the goods dispatched by the head office to
the branch amounted to Rs 132,00,000. Out of the goods
received by it, the branch sent back to head office goods
invoiced at Rs 72,000. Other transactions at the branch
during the year were as follows:

31 AT 2006 F @ured forcfra af & ford B onfew @ gman
AN T A H IE T 1,32,000 Fo AT | YT A
WA qEr A g QAT & 72,000 Ho H AT dmuE 4ot
fear o @ 4w g W A fE g

Rs
Cash Sales (wa fﬂ?ﬁf) 97,00,000
Credit Sales (39T fa1) 31,40,000

Cash collected by branch from credit customers 28,42,000)
(T Ukl W QUEl BRI g TAr Uhs)

Returns by customers (IIIFIJ;I' q ) 1,02,000
Discount allowed (dl?jll fd’ﬂ) 58,000

Bad debts written off (Zad #o1 sfafad &) 37,000
Expenscs paid by branch (smqr 7t Rio| @”ﬁ) 8,422,000
On 15T January, 2006 the branch purchased new furniture
for Rs 1,00,000 for which paymcnis were made by head
office by means of a cheque. On 317 March, 2006, branch
expenses Rs 6,000 were outstanding and cash in hand was
again 10.000. Furniture is subject to depreciation @ 16%
p.a.

11 PTO



| at 2006 F Q@ 4 10,000 T T HAE ey

| 31 9TE 200 i o
Rorget A IeH qIrar EE AR m 6 =y Goods received from Delhi af selling price 15,000
m@eoooaomﬁaﬂ?mﬁmm’ooo“. (7 1 & wTer =)
™ o o s T ST | Cash sales (g 3z 6,900
Prepift Branch account in the booksAof Head office for Goods returned to Delhj at selling price 300

(foepa 7 W el a6t ey e o)

Credit sales (less returns) (S8R fal, amlt & am@) 6,300
Authorized reduction in selling price of goods sold 150

t
the year ended 3ls March, 2006.
Ter g @ el 7 31 et 2006 H THIG B AT %

|

& fg qrar @rr SR 10 (AT 9w & R g W ot o)
Or (m) | Cash received from debtors (37eRl & g AHT) 4,800

Garima Stores of Delhi operates a retail branch at Chennai. | ]()ebtorsw‘”;gt‘?ﬂ Of;;s irrecoverable 200
The head office makes all the purchases and the branch is | Ciaslh:"dtiqslcounielfow d’lt'g) seby

charged at cost plus 50%. All cash received by the Chennai | ( - e ﬁC;T )e ors 150
branch is remitted to Delhi. Branch expenses are paid by | 2 IEIfI. ERENEEC .

the branch out of an imprest account which is reimbursed | A consignment of goods dispatched to the branch on 28
by Delhi H.O. monthly. The branch keeps a sales ledger | December, 2013 with a selling price of Rs 180 was not
and certain essential subsidiary books, but otherwise all | recel.ved until 5-1-2014 and had not been included in stock.
branch transactions are recorded at Delhi. On 1-1-2013 Closing stock at selling price was Rs 7,290. The expenses
stock in trade at the branch at selling price amounted to Rs | relating to the branch for the year ended 31 Dec 2013

6,000 and debtors were Rs 4.000. During the year en dedd amounted to Rs 1,800. You are required to prepare Branch
* : : Stock a/c, Branch Debtors a/c, Branch Adjustment a/c and

31-12-2013 the following branch transactions were made:d Branch Profit and Loss a/c maintained at Delhi under Stock

Rt & R = I | Ten GaUl M-l bl LEIGE] & ‘ and Debtors system. Any stock unaccounted for is to be
g1 'Rl e (2 EC LR & S & SR el q ‘ regarded as normal wastage.
T H 50% SHEHT YR AT &) A~ qw@l &9 T 98199013 Fr 180 To B Red T W g @ A AW

s Rt & ¥ R s ¥ g e e @ 5.1.2014 T 0ET § WK 781 gon ofX ik & &I feran

ﬁ\ﬁﬁ&aﬁ%uﬁﬁﬁg@smmaﬁaﬁgﬁ‘ﬁ T | fashT ger W sIfaw @i 7,200 To ¥ 31.12.2013
TA® HIE HTT ¢ | Ja qmar ¥ fgpr g8 AR o T

T T TEE e o RS B Fw ¥ & fqu g § w=fad @ = 1,800 Fo &)
afer : JATHT q it & =aftaa gmaEn

o B 112013 ) qran § < A T WE:TRZ:IW@TW@WW

Wﬁ,OOOFOﬂTaﬂ'{w%OOOBOﬁa‘31.12.2013% I 9rdl, 9 )

T a9 & I & o A o

7761 13 PLE
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e A-E T g & | @t § e ferar mar o

=i AT et W S g 10

6. Anurag, Bajaj and Prerna trade in partnership sharing profits
and losses in proportion of 3:2:1. They decide to dissolve
the firm with effect from January 1, 2013 when the Firm
Balance Sheet stood as follows:

AT, A AT GO AT F AR FA € SR Ay
eif 3:2:1 % A H dfed €1 1 SHa 2018 €  ®H &
farerzr =1 Fofr @ €1 9w e o o o Tereer e -

Liabilities Rs  Assets Rs

Capital Accounts: Land and Buildings 80,000
Anurag 54,000 Fumiture and Fittings 12,000
Bajaj 40,000 Plant and Machinery 30,000
Prerna 25,000  1,19,000 Stock in Trade 18,000

General Reserve 6,000  Sindry Debtors 60,000

Sundry Creditors 90,000 Investments 35,000

Bank Overdraft Cash and Bank

(unsecured) 30,000 Balance 10,000
2,45,000 2,45,000

7761

The assets are being realized gradually. Alter meeting the
expenses of realization, the first instalment of realization
(including cash and bank balances) fetches Rs. 75,000 the
second Rs 32,000, the third Rs 60,000 and the fourth Rs
63,000. If distribution among partners is to be made after
each instalment of realization as far as possible, prepare 2
statement showing the distributions to partners at each

instalment although the final results were not yet known.
(Apply surplus capital method.)

14
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afteEafeal A age dR-di & w2 T = %
veet! e (Tehg == ¥ 19 o) & 75,000 %o faery
2, gl 7 32,000, Tl 7 60,000 3R D F 63000 | 7
el q% GeHd B Al agell B YdF [hed F a1 I fHe
H dA WEER § 89 ¥, O anfen § deaw @
feraror qrEd | s oftom e T A9 B v e @
ugET @ fEer g e ¥ O enfere fafer @ swEm

HITT | 10

Or (3raan)
A, B and C were partners sharing profits and losses in the
ratio or 3:2:1. On 3 ISt December, 2008, their Balance Sheet
was as follows:
A, B @91 C A9 1 & 3:2:1 & U & fBEER 21 31
fearaY 2008 IeRT ot o ForT &
Liabilities

Rs. Assets Rs.

Sundry Creditors 30,000 Cash at Bank 9,500

Bills Payable 5,000 Stock 15,500

A's Loan 6,000 Sundry Debtors 32,000

Reserve Fund 12,000 Furniture 5,000

Profit & Loss Account 6,000 Plant 21,000
Capital Accounts: Drawings Account:

A 20,000 A 4,000

B 15,000 B 1,000

C's capital 6,000

94,000 94,000

5 PT.O



The firm was dissolved on that date. Stock realized 12,20y
debtors 30,000 and furniture 4,200. Plant is taken ovey b}:
A-at 18,000. A contingent liability for bills discoupey

materialized to the extent of 600. Realization €Xpenses

amounted to 600. C is insolvent, but his prlvate Cstate paiq

~1,900. Prepare Realization Account, Capital Account and
- Bank Account..Apply Garner Vs Murray.

Wﬁfaaﬁwﬁwﬁméwnm%uzoosam
%amﬁsooooaﬁwﬁa?ﬁuoam%maﬁlsooo

soﬁ%mnﬁaﬁwmm%%mmmmaa

7761

600 To T | T =T 600 o B | C ararferar & ueeg
ST AR STETE 5 1,900 Bo R TR §7/ WY Faw iy

@W@mg&ﬂ@meﬁ?%mﬁmaﬁﬁm 10
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Bt & fow Fdw

L S - @ e 8 e R e FeiRa e W s s
ol |
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3, wm—wwwmm%ﬁﬁm?ﬁwﬁﬁﬁmﬁmﬂﬁ
ITRI T LA Tk B BT IR |
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(78]

. (a) State with reasons in brief whether the tollowing () welw ¥ wnwr A gU ey f fAefafan wuw we 8 ar
statements are True or False:

g 7
(i) All illegal agreements are void but all void
. ) w® sy e A AR S
agreements are not necessarily illegal. (i) e D B Y T s
¥ e A B

(i) Mistake as to law of the land is not excusable.
(i) off = & gfte @ e o 1@ B
(iif) Silence can not be prescribed as a mode of
acceptance. (9) (ii) AT ¥ W wRar B G B T X AS W= o

LE I
(b) An agreement without consideration is void.

Comment. (6) (@) TR AfAwe & R T B ? 1wl @R |
OR
HAAT
(a) State with reasons in brief whether the following
statements are True or False: (F) @87 ¥ FRO X §W WAy & FeefRar wu e €

NS
(i) Fraud is wilful misrepresentation of facts.

(i) =ue, 9 = WMew @= frer feaw S @)

(i) A voidable contract can be enforced by a

stranger. (i) TawwiE wfeer suRRm ew AR E T e
(iii) Quasi contracts are based on the principle of 2
unjust enrichment. () —— : .
(i) o wive} sfe wofe & Re w stuRs O
(b) “Agreements in restraint of trade are void”. Critically g
examine the statement giving suitable examples. (6)

P.T.0O.
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) wﬁmwmmﬁm@ﬁ%%?mméﬁi

travelled to the auction place and came to know

TG HUYT Hl IMAETHE ST T | that auction had been withdrawn. He files a suit
against X for recovery of compensation for his loss

| of time and expenses. Will he succeed? (9)
2. (a) (1) Explain three essentials of a contract of |

bailment. (b) Discuss the rights of surety against principal debtor,
| creditor and co-sureties. (6)
(i) “Ratification has a retrospective effect”.
Comment. (F) (i) Sufme = R R S aFEdEst w e
(iii) S, a minor fraudulently represented to L that he PIITS |

was of full age and obtained a loan of ¥1,50,000.

i) “IEHd 1 Heleredl v B 8 27 el i
Subsequently he refused to pay it. Is L entitled to (i) = <

take any action against S for the money lent. Advise (i) S S 3 oof w ¥ L E

L as to his rights. ) | 5
for 98 T 31 w1 8 3R I& 1,50,000 T H I
(b) Discuss in brief the various types of remedies | o forar | 3 =l @ FEA gE 99 oflem ¥ TRR o
available to an aggrieved party in case of breach of a Rar 1 = L =Y Jur v v W@ & fow § & fRaemw
contract. 6) | FHIEE! H A BH B 7 L I IR IAUER & @GR
OR A g AT |

(a) (i) Distinguish between ‘Wagering Agreement’ and | (W) dfer & g 9= & @9 =fm ol w Sues e

‘Contingent Contract’. TR & IUE @ ge # faeeer il

(i) X advertised that an auction of “Electronic Goods” —

would take place at a specified time and place. ¥ |

P.T.O.
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(®) (i) w0 R SR AERF A F HR ey

(i) X7 fmme far B sl @ A S g
T FE R T R R S Y am aw o
e S TG A I8 U TN N R g
A o @ 2w X & Raamw s wwm wy why
AR el & o e w e o wmn e

2 | 1 98 dhel BNT 7

(@) wE FUEEl, OFeR 3R qE-TRNR B AR 9 e
HiTTY |

(a) Explain the various implied conditions in a Contract of |
Sale. 9)

(b) (i) Distinguish between ‘Specific’ and ‘Unascertained |

goods’.

(i1) A delivered a horse to B on ‘Sale or return basis’.

The agreement provided that B should try the horse

for 8 days and the return, if he did not like the |

horse. On the third day the horse died without the |
fault of B. A files a suit against B for the recovery

(0)

of price? Can he recover?

7762 s

OR

(a) ‘Nemo dat Quod non habet’( No one can give what he
does not possess). Explain this maxim and state the

exceptions to it). ' 9)

(b) (i) “The right of stoppage of goods in transit is an

extention of right of lien”. Comment.

(ii) The buyer took delivery of 10 computers from the
seller Without' examining them. Subsequently, he
sold 5 compﬁtérs to his customer. The customer
lodged a complaint of some defects in the
computers. The buyer sought to return computers

to the seller. Was he entitled to return the

computers to the seller? (6)
() fosit ot & ffeq ffer w&l A e Hifke |
(@) (i) ‘R’ sk smRRfe dwg ¥ R T

(i) A ¥ fet srer ao MR W g Wer Bt f
R ¥ wren @ T 5 B w ue N 8 A w@ad
Fr & 9@ A a8 T AR @ wEe F &P A @

P.T.0
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m%lw%mmmeaﬁaﬁm
T @A R G B D BT B R freg
amm%m%?wagﬁmwwmw?

J=AAT

(F) “I T TR A W (IR N IR FW ' A 4
TF JaRa A8l &K Ghdl)” TW G S TR I 3K Taa
FUEE! 1 Seoid HIY |

“HWU D R A A& oA HT IMER IROMER
EalCr i feo =ifse |

@) (i)

(i) @ 3 da ¥ 10 FFged N WA, 3% I TR A
T I TAR IJEY 5 FFEGR IO AEH w9
v 1 TEw T 3 Tl ¥ Rl A & R e
TR T D1 B T AR A TR AT o A

FE | T 95 el @ J FegeX e H R @
272

.

(@) () What are the eligibility conditions for the

appointment of Designated partners?

(1) Explain the rules regarding change of name of
LLP.

7762 9

(iif) State the contents of Incorporation Document of

(b) State provisions regarding taxation of LLP. (6)

OR

(a) Who may file a petition for winding up? Discuss the
grounds under which an LLP can be wound up by the

court. (9)

(b) (i) How can an existing partner cease te be a partner

of LLP ? What are the consequences of cessation?

(1)) A partner shall never be liable to an unlimited
extent for the debts of the LLP. Critically examine
the statement. (6)

(w) (i) Ffe wmier @ fofe @ o g = =0 80

(i) LLP & 9 ¥ gRad" e @ aftg s &t =ren
I |

(i) LLP & Fome w=mw & fwa @ &1 s&=@
THifeTY |

(@) LLP W & a8l =aenst &1 Jeoid@ i |

P.T.O.
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JTAdl

(%) T & U AR FIF SRR aR Gehdl @ 7 39 SMUR
o e fee sioeia =aed 8] LLP &0 g9+ fohan

S &l © 7

(i) wroEr wEeR fFg ¥R LLP = ¥Rl & &
FFG 2 ? @ T D UROE M R 7

(=)

(ii)

SER T8 BRI | 3@ HU @ AT Wi
HIT |

5. (a) (i) What are the duties of a subscriber under IT

Act?

(i) Distinguish between public key and private

key?

(iii) What do you mean by Cyber Terrorism? )

(b) State the procedure of creation and Verification of digital

(6)

signature.

OR

sHieR LLP & F @ R w W o v A

7762 11

(a) (i) Explain Legal recognition of electronic records and

electronic signatures.

(ii) Explain the meaning and punishment for ‘Tempering

with computer source document’.
(iii) Define ‘Asymmetric Crypto System’. 9

(b) Write short notes on (Any one) :
(i) Role of Certifying Authorities

(i) Appellate Tribunal (6)

(@) (1) IT sffes & sita s & ggieal =1 € 7
(i) wEwHe ot R Fel FHot A FR wAEY |
(i) R R ¥ T > E 7

(@) Rftea semer & go IR WO R WA F e
ey |

JAAl

(=) (i) sﬁaﬁﬁmmaﬁiaﬁaﬁﬁ?ﬁm@ﬁﬁm
AT & AR i |

P.T.O.
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(i) =g 9 Tw@Ey ¥ Dgam & 1Y 3R @ fwn

€ &l ARAT ST |

(i) vt foreet Reew = R €ifsre |

(@) T % ¥ fset wes w afere ool faiRaw -
() wmores fteR = sifve

(i) 3Ren stfererzoy
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